T—
PNEUWVIISSION '."5

Series H, One Touch Fitting, Nickel Plated

Metrictubing | Inch tubing
H-1/8 H-8- H-B-1/8
H4 H-1/4 H-B-4 -B-1/4
H-E H-5/16 -B-6 H-B-5/16
H-¢ H-3/8 H -B-3/8
H-10 H-1/2 H-B-10 H-B-1/2
Tube(Metric)-Thread(G) Tube(Metric)-Thread(PT) Tube(inch)-Thread(NPT)
. _H-B-3-M8&X1 H-B-6-G03 H-B-3-M&X1 H-B8-6-03 H-1/8-M8X1 H-
“ H-B-4-G0 H-B-6-G04 H-B-4-01 H-B-6-04 H-1/4-N1 H-3/8-N2
_H-B-4-GO H-B-8-G02 -B-4-02 -B-8-02 H-1/4-N2 H-3/8-N3
“H-B-4-GO H-B-8-G03 -8-4-03 -B-8-03 H-1/4-N3 H-3/8-N4
H-B-4-G04 H-B-8-G04 -B-4-04 -B-8-04 H-1/4-N4 H-1/2-N2
-B-6-GO H-B-10-G03 H-B-6-0 H-B-10-03 H-5/16-N1 H-1/2-N3
H-B-6-G0: H-B-10-G04 H-B-6-02 H-B-10-04 H-5/16-N2 H-1/2-N4
~ Tube(Metric)-Thread(G! Tube(Metric)-Thread(PT) Tube(Inch)-Thread(NPT)
u a -3-M8X1 H-6-G03 H-3-M8X1 H-6- H-B-1/4-N H-B-5/16-N4
“H-4:G0 -6-G04 -4-0 -6 H 2 H-B-3/8-N2
“H-4-G02 -8-602 -4-03 -8-02 H-B-1/4-N3 H-B-3/8-N3
TH-4-G03 H-8-G03 H H-8- H-8-1/4-N4 H-B-3/8-N4
_H-4-G04 H-8-G04 H-4-0. H-8-0 H-B-5/16-N1 H-B-1/2-N3
“H-8-GO1 H-10-G03 H-6-0 H-10-03 H-B-5/16-N2 H-B-1/2-N4
H-6-G02 H=10-G04 H-8-G02 H-10-G04 H-B-5/18-N3
Metrictubing | Inchtubing : Tube{Matric)-Thread(G) | Tube{Metric} Thread(PT) | Tube{lnch}-Thread(NPT)
— H-G-3 H-G-1/8 J-3-MaXx1 JJ-3-M8&X1 H-J-1/8
ﬂ H-G4 H-G-1/4 : 1 1 -J-1/4
H-G-¢ H-G-5/16 J-6-G01 JJ-6-01 H-J-5/16
H-G- H-G-3/8 - G02 JJ-8-02 H-J-3/8
H-G-10 H-G-1/2 H-JJ-10-G03 H-JJ-10-03 H-J-1/2

y - Metric tubing inch tubing Tube(Metric)-Thread(G) | Tube(Metric) Tnread(PT) | Tube(Inch)-Thread(NPT)
- TNE: H-J-1/8 H-JJR-3-M8X1 | H-JJR-3-M8X1 | H-JJR-1/8-M8X1
-4 H-J-1/4 H-JJR-4-G01 | H-JJR-4-01 H-JJR-1/4- | ™
H-,)-8 H-J-5/16 H-JJR-6-G01 JJR-6-01 H-JJR-5/16-N1
' H-J-8 H-J-3/8 H-JJR-8-G02 | H-JJR-8-02 H-JJR-3/8N2 -l
H-J-10 H-J-1/2 H-JJR-10-G03 | H-JJR-10-08 | H-JJR-1/2-N03 J“"

Pl

116

Subject to change without notice, for updated information, please visit www.pneumission.com - .



PNEUVVIISSION

.
%

S

=

117

_HeJ-3-M8X1 $-G02 H-J-3-M8X1 H--8-02 HJ-1/8-M8X1 | _H-J-3/8-N:
H-J-4-G0 -II-.. -8-G03 01 H-J-8-03 H-J-1/4-N1 H-J-3/8-N4
H-J-4-G02 -G 04 H-J-4-02 H-J-8-04 -1/4-N2 H-J-1/2-N2
H-J-€ =)~ 2 H-J-6-01 H=J- -5/16-N1 H-J-1/2-N3
H-J-6-G02 -J-10-G03 H-J-8-02 H-J-10-03 -J-6/18-N2 H-J-1/2-N4
H-J-6-G03 -10-G04 H-J-6-03 H-J-10-04 H-J-5/16-N3
H-3T-3-M8X1 H-3T-8-G02 H-3T-3-M8X1 H-3T-1/8-M8X1 H-31 -Q.'&Na
H-3T-4-G01 H-3T-8-G03 H-3T- --." H-3T-1/4-N H-3T-3/8-N3
H-J-3T-G02 H-3T-8-G04 H-J-3T-02 H-37 H-3T-1/4-N2 H-3T-3/8-N4
H-J-3T-G01 H-3T-10-G02 H-J-37-01 H-3T-10-02 H-3T-5/16-N1 3T-1/2-N2
H-J-3T-G02 H-3T-10-G03 H-J-3T-02 H-3T-10-03 H-3T-5/18-N2 H-3T-1/2-N3
H-J-3T-G03 H-3T-10-G04 H-J-3T-03 H-3T-10-04 H-3T-6/18-N3

Metric tublng Inch tubing m; mmblng Inch tubing

H-3T-3 H-3T-1/8 H-47 H-4T-1/8
H-37-4 H-3T-1/4 '-4"-' H-4T-1/4
H-37-€ H-3T-5/18 H-4 T-€ H-4T-5/1
H-3T- H-3T-3/8 H-4T- H-4T-

-3T-10 H-3T-1/2 H-4T-10 H-4T-1/2
H-4T-3-MBX1 H-4T-3-M3X1 H-47-! H-4T- 1&&]&1 H-4T-3/8-N2
H-4T-4-G01 'I-"l'-HOZ H-47-4-01 H-47-8-02 H-4T-1/4-N1 H-4T-3/8-N3
H-4T-4-G02 H-4T-8-G03 H-4T-4-02 H-4T-8-03 H-4T-1/4-N2 H-4T-3/8-N4

_H-4T-68-G01 H-4T-8-G04 H 1 H H-4T-5/18-N1 H-4T-1/2-N2
H-4T-6-G02 H-4T-10-G02 H-47-6-02 H-4T-10-02 H-4T-5/16-N2 H-4T-1/2-N3
H-4T-6-G03 H-4T-10-G03 H-4T-6-03 H-4T7-10-03 H-4T-5/16-N3
H-4T-8-G02 H-4T-10-G04 H-4T-8-02 H-4T-10-04
H-4T-8-G03 H-47-8-03

H-3V-3-M8X1 | H-3Y-8-G04 | H-3Y-3-M8X1 | H-3Y-8-04 H-3Y-1/6-M8x1_| H-3V-3/8N2___
H-3Y- H-3Y-8-G02 | H-3Y-4-01 H-3Y-8-02 H-3Y-1/4-N1__| H-3Y-3/8-N3
H-3Y-4-G02 H-3Y-8-G03 H-3Y-4-02 H-3Y-8-03 H-3Y-1/4-N2 H-3Y-3/8-N4
_H-3Y-6-G01 H-3Y-8-G04 H-3"I"-§-01 H-3Y-8-04 H-3Y-5/16-N1 H-3Y=1/2-N2
-6-G02 -3Y-1 H-3Y-10-02 H-3Y-5/16-N2 H-3Y-1/2-N3
H-3Y-8-G03 H-3Y-10-G03 H-SY-H-OS H-3Y-10-03 H-3Y-5/16-N3 H-3Y-1/2-N4
H-3Y-8-G02 H-3Y-10-G04 H-3Y-8-02 H-3Y-10-04
H-3Y-8-G03 _H-3Y-8-03
Tube(Metric)- Thread(G) Tube{Metrc)-Thread(PT) W}W
--<"-—M8y(1 H-3TJ-3-M8X1
-3TJ-4 H-37J-4-01 H- '-1!4-"1
TJ-6-G0: -3TJ-8-02 H-3TJ-5/16-N1
I'I-ST.I -8-G02 H-3TJ- H-3TJ-3/8-N2
H-3TJ-10-G03 H-3TJ-10-03 H-3TJ-1/2-N3

Subject to change without notice, for updated information, please visit www.pneumission.com



	116.pdf
	117.pdf

